Name
Chemistry
Stoichiometry Review

(#6-1) For the following determine the number of molecutes

2.

(#6-1) For the following deter mine the amount of moles
3. 2.3 x 102 molecules of H; ¢ ]

8.

452 moles F6203

(#6-1) For the following detenmn
9. 22 grams of Oz ‘ ¢

(#56-2) For the following determine the amount of moles using the foilowmg equation
Ny + 2 0Oy = 2NOG;
11. If one used 6 moles of O», how many leEj} NO; would be formed?
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12. Ifone formed 4.2 moles of NOz, how many moles of N» are needed° L, Zonaet }:3 i;.ﬁ’ H }é TR w
, . : . . , % i)y A
(#6-2) Determine the mass(in grams) using the following equation N
3HxOr + 4 Al — 2 AlOs +3H:

13.  90.2 grams of Al was added o an excess of hydlo %n peromde how much al mmum oxide was
formed? S0, 05 AL Hast Al L 2Zopanl £

e Fros s Bt ¥
e

In the beakers above there is a particulate Tepresentation of a beaker containing excess zine and a sclution
of hydrochloric acid. The zine and the HCI wil} react according to the reaction below.

2 HCI(aq) + Zn(s) — ZnClv(aq) + Hz w
f"?‘ 3
14. Draw the beaker after the reacnon ‘has gone to completion. e
15. Why is the HCl not connected to each other in the first beaker? - VT
16. Is there a spectator in this reaction? 1f so, what? e
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Stoichiometry Practice MC

Multipie Choice
- Identify the choice thar best completes the statement or answers the question.

1. (#6-1) A 0.5 mole sample of Hydrobromic Acid will have a mass of g%f i g/@&
- T K3
a. 809 grams c. 22.4g 09 ree é) 1
(b} 405 grams d. 6.022 E23

1 gram of CH, reacts with 1 gram of O, via combustion. Answer the following questions relative to the
reaction.

2. (#1-2} The overall balanced reaction 1epi csented below
a. CH;+0= C+H+O rat oo Gy

b. CH, +O; = COQ +H,O
C. CH, = C + Oz +C vt
Ad> CH, +20;= CO,+2H,0

2C ) + 504 = ZH O + 4C 04
Acetylene is a common fuel used in welding. Answer the following questions.

,z,g Fi
3. (#6-1) If you have 10 grams of C.H, and 10 grams of O'), which of the following conect]y descnbes the
quantites of particles? ﬁ@f Frap La -
a. The quantities of particles are equal B e %

) You have more C,H,
¢.  You have more O, :
d. This question would require the number of moles to answer and that was not glvéf’h.

4. (#6-2) If 1 mole of each reactant were used what would be the limiting reactant?
2. CH, {e.4 0, A s G b, M;%ii* e
b, CO, d. HO . vy ,
W,f:‘ﬁ””“%* éﬁ}%’,wmww AR % }: Mg &
5. (#06-1) A sample of this substance was analyzed as follows: massed to contain 13g and%mnd o contaln 0.5
moles. Wthh substance was being analyzed? /2
. F C. C02 =
d. HO &

=2l
L4 7w

6. (#6-2 & #6-1)A sample of 13 grams of C,H, is reacted with excess oxygen. How much I,0 and CO, will be
produced respectively? o
a. .Sgand.5g
. Sgandlg

¢ .5 mol and 1 mol
i3gand 26g
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7. ([#6-2 & #6-3) A sample of C;H; is going to be burned. How many molecules of O, would be needed here?
2C2H2(gJ + 502@ = 2H20(g) + 4(:02@

pe—
CsHs
CaHy £
CaHs Czha
b R e
CiHa
Gzl
oty OeHz

a. 0 c. 10
b 3 fd ;25

: 8. (#6-2 & #6-3) A sample of C,H; is going to be burned. Which of the following pictures would represent the
substance after the reaction has gone to completion?

O u

L 9, (#6- 1)If the 13g sample of C2H; (prior fo burning) were to be stored in a balloon at STP, how large would
that baltoon be? R

a.  .5Smol 12L&
b. 2241 d. 301 E231L

10. (#6-1) Which of these substances contains more than 1 mole of particles ..o
b, 20L O, (STP) c. 17gH,0 f .
g | RN ' ¢
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